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m = a2 X SL = 1.250 X 27 = 33.8 N/mf
Xo>T m = 33.8 N/mf
(3)KkEA FEW/C) m = -17.3 + 27.0 X C/W
W/C = 27.0 = (33.8 + 17.3) X 100 = 52 %
W/C = 52 %
(4) HpKE (W) WTIEOFEEICELY W = 174 kg/m
(5)Hfrt A FE(C) C =W+ (W/C) X 100 = 174 =+ 52 X 100 = 335  ke/mi
Cv= C +~ #f = 335 + 3.04 = 110 L/mi
(6) 2558 (A) A = 4.5 % X 1000 = 45 L/nd
(7)) EM*E(s/a) MTHEOFEKICEID s/a = 47.3 %
(8) Al E#ME(S) Sv = (1000 — (W+Cv+A)) X s/a = 671 X 47.3 % = 317 L/m
S1 = Sv X 50.0 % X FELEE = 317 X 50.0 % X 2.65 = 420 kg/m
S2 = Sv X 50.0 % X REEE = 317 X 50.0 % X 2.57 = 407 ke/mi
(9) HALHEM £ (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 646 = 354 L/m
Gl = Gv X 50.0 % X REEE = 354 X 50.0 % X 2.73 = 483  kg/mi
G2 = Gv X 50.0 % X FiEE = 354 X 50.0 % X 2.73 = 483  keg/m
(10) BNIEFNA & (Ad) Ad = C X RIN=E = 335 X 0.900 % = 3.02 kg/m
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